Examples

1)
a <- ~a
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{}
	{a}
	Yes
	Yes, (=2
	Yes


2)
a <- ~b

b <- ~a
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{a}
	{}
	Yes
	Yes, (=2
	Yes

	{b}
	Yes
	{b}
	{}
	Yes
	Yes, (=2
	Yes


3)
a <- ~a

b <- ~a
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{}
	{a}
	Yes
	Yes, (=2
	Yes


4)
a <- ~b

b <- ~c

c <- ~a
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2Γ((M) ( RAA(M) ?

	Is RSM ?

	{a,b}
	Yes
	{b}
	{a}
	Yes
	Yes, (=4
	Yes

	{b,c}
	Yes
	{c}
	{b}
	Yes
	Yes, (=4
	Yes

	{a,c}
	Yes
	{a}
	{c}
	Yes
	Yes, (=4
	Yes


5)
c <- a, ~c

a <- ~b

b <- ~a
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{b}
	Yes
	{b}
	{}
	Yes
	Yes, (=2
	Yes

	{a,c}
	Yes
	{a}
	{c}
	Yes
	Yes, (=2
	Yes


6)
a <- ~a, ~b

b <- ~a, ~b
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{}
	{a}
	Yes
	Yes, (=2
	Yes

	{b}
	Yes
	{}
	{b}
	Yes
	Yes, (=2
	Yes


7)
a <- ~a, ~b

d <- ~a

b <- d, ~b
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{}
	{a}
	Yes
	Yes, (=2
	Yes

	{b,d}
	Yes
	{d}
	{b}
	Yes
	Yes, (=2
	Yes


8)
a <- ~a

b <- ~a, ~b
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{}
	{a}
	Yes
	Yes, (=2
	Yes


9)
a <- ~b
t <- a, b 

k <- ~t

b <- ~a 



i <- ~k

	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2

Γ((M) ( RAA(M) ?

	Is RSM ?

	{a,t}
	Yes
	{a}
	{t}
	Yes
	No
	No

	{a,k}
	Yes
	{a,k}
	{}
	Yes
	Yes, (=2
	Yes

	{a,i}
	Yes
	{b}
	{t}
	Yes
	No
	No

	{b,t}
	Yes
	{b}
	{t}
	Yes
	No
	No

	{b,k}
	Yes
	{b,k}
	{}
	Yes
	Yes, (=2
	Yes



10) a <- ~b
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{a}
	{}
	Yes
	Yes, (=2
	Yes

	{b}
	Yes
	{}
	{b}
	Yes
	No
	No


11)
a <- ~a

b <- ~a

c <- ~b
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a,b}
	Yes
	{}
	{a,b}
	No
	Yes, (=2
	No

	{a,c}
	Yes
	{c}
	{a}
	Yes
	Yes, (=2
	Yes


12)
a <- ~b

b <- ~c

c <- ~d

d <- ~e

e <- ~a
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?


	{a,b,d}
	Yes
	{b,d}
	{a}
	Yes
	Yes, (=6
	Yes

	{a,c,d}
	Yes
	{a,d}
	{c}
	Yes
	Yes, (=6
	Yes

	{a,c,e}
	Yes
	{a,c}
	{e}
	Yes
	Yes, (=6
	Yes

	{b,c,e}
	Yes
	{c,e}
	{b}
	Yes
	Yes, (=6
	Yes


13)
a <- ~b, ~c

b <- ~a, ~c

c <- ~a, ~b
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{a}
	Yes
	{a}
	{}
	Yes
	Yes, (=2
	Yes

	{b}
	Yes
	{b}
	{}
	Yes
	Yes, (=2
	Yes

	{c}
	Yes
	{c}
	{}
	Yes
	Yes, (=2
	Yes


14)
a <- ~b 

x <- ~y
b <- ~a 

y <- ~x

c <- a, ~c 

z <- x, ~z
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{b,y}
	Yes
	{b,y}
	{}
	Yes
	Yes, (=2
	Yes

	{a,c,y}
	Yes
	{a,y}
	{c}
	Yes
	Yes, (=2
	Yes

	{b,x,z}
	Yes
	{b,x}
	{z}
	Yes
	Yes, (=2
	Yes

	{a,c,x,z}
	Yes
	{a,x}
	{c,z}
	No
	Yes, (=2
	No


15)
a <- ~b 

b <- ~a, c 

c <- a
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?

	Is RSM ?

	{b}
	Yes
	{}
	{b}
	Yes
	Yes, (=2
	Yes

	{a,c}
	Yes
	{a,c}
	{}
	Yes
	Yes, (=2
	Yes


16)
a <- ~b 


x <- ~y
b <- ~a, c 


y <- ~x, z
c <- a


z <- x
	Candidate Interpretation M
	M is minimal model ?
	Γ(M)
	RAA(M) = M – Γ(M)
	RAA(M) is minimal with respect to other RAAs≠{}?
	( ((2
Γ((M) ( RAA(M) ?
	Is RSM ?

	{b,y}
	Yes
	{}
	{b,y}
	No
	Yes, (=2
	No

	{a,c,y}
	Yes
	{a,c}
	{y}
	Yes
	Yes, (=2
	Yes

	{b,x,z}
	Yes
	{x,z}
	{b}
	Yes
	Yes, (=2
	Yes

	{a,c,x,z}
	Yes
	{a,c,x,z}
	{}
	Yes
	Yes, (=2
	Yes


